Some chocolates (¢ with square)

Nim values for small chocolate tablets in the game of chomp.
Each tablet is given by its column lenghts from left to right.
If nim value is not zero, then there is a winning move. We hightlight one of them in yellow.

If nim value is zero, the tablet is painted in milka color.
Have fun and eat chocolate.

-

10,1,1,1,1,1,1,1,1,1 = 0 10,1,1,1,1,1,1,1,1,1,1,1,1,1 = 4 10,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1
=24
10,1,1,1,1,1,1,1,1,1,1 = 3 10,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 7

10,2,1,1,1,1,1,1,1,1 = 1

L

-

|

10,1,1,1,1,1,1,1,1,1,1,1 = 2 10,2,1,1,1,1,1,1,1,1,1 = 0

10,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =

10,1,1,1,1,1,1,1,1,1,1,1,1 = 5 25 10,2,1,1,1,1,1,1,1,1,1,1 = 19

10,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 6

-
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B

10,2,1,1,1,1,1,1,1,1,1,1,1 = 2

[

10,2,1,1,1,1,1,1,1,1,1,1,1,1 = 18

B

10,2,1,1,1,1,1,1,1,1,1,1,1,1,1 = 17

B

10,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1
20

[
-

10,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =

21

10,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1
=14

]
L1=1

W
1,11 =2
W
1,1,1,1 =3
W
11,111 =4
W
1,1,1,1,1,1 =5
CLITTTT]
1,1,1,1,1,1,1 = 6
CITTTTITT]
1L,1,1,1,1,1,1,1 =7
CITTTTTTT]
1,1,1,1,1,1,1,1,1 = 8
CIITTTTTTT]
1,1,1,1,1,1,1,1,1,1 = 9
CITTTTTITTTT]
1,1,1,1,1,1,1,1,1,1,1 = 10
CITTTTTTITTTIT]

1,1,1,1,1,1,1,1,1,1,1,1 = 11

|

11,1,1,1,1,1,1,1,1,1,1 = 0

\V]

1,1,1,1,1,1,1,1,1,1,1,1,1 = 12

-

11,1,1,1,1,1,1,1,1,1,1,1 = 1

1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 13

-

11,1,1,1,1,1,1,1,1,1,1,1,1 = 6

1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 14

Pk b Rt Rt At Ak Rt R Rt int At b R}

-

11,1,1,1,1,1,1,1,1,1,1,1,1,1 = 7

1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 15

11,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 4



-

1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =
16

11,2,L,LLLLLLLLL = 2

B

11,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 5

1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =
17

—|_

11,2,1,1,1,1,1,1,1,1,1,1,1 = 3

[

11,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =
26

11,2,1,1,1,1,1,1,1,1,1,1,1,1 = 4

B

11,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1
= 11,2,1,1,1,1,1,1,1,1,1,1,1,1,1 = 5

[

11,2,1,1,1,1,1,1,1,1,1 = 1

11,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 6

|

11,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =
7

|

11,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1
=8
12,1,1,1,1,1,1,1,1,1,1,1 = 0

-

12,1,1,1,1,1,1,1,1,1,1,1,1 = 7




[

|

-

12,1,1,1,1,1,1,1,1,1,1,1,1,1 = 6 12,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 12,2,1,1,1,1,1,1,1,1,1,1,1,1,1 = 4
=26

12,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 5 12,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 5
12,2,1,1,1,1,1,1,1,1,1,1 = 1

L 12,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =

12,2,1,1,1,1,1,1,1,1,1,1,1 = 0

-

12,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 12,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1
27 12,2,1,1,1,1,1,1,1,1,1,1,1,1 = 3 =7

-

B

12,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 4

B
-




B
-
-

13,1,1,1,1,1,1,1,1,1,1,1,1 = 0 13,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 13,2,1,1,1,1,1,1,1,1,1,1,1,1,1 = 6

r g
-
-

13,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 4
131,1,1,1,1,1,1,1,1,1,1,1,1 = 1 13,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1

[
~
-

13,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =

13,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 2
13,2,1,1,1,1,1,1,1,1,1,1,1 = 1

e
r |
-

13,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1
13,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 3 13,2,1,1,1,1,1,1,1,1,1,1,1,1 = 5 =21



[
-

14,1,1,1,1,1,1,1,1,1,1,1,1,1 = 0

[
-

14,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 3

[
=

14,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 2

byttt bty by by by ey Ly

[
—

14,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =
29

14,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1
=28

14,2,1,1,1,1,1,1,1,1,1,1,1,1 = 1

14,2,1,1,1,1,1,1,1,1,1,1,1,1,1 = 0

14,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 7

14,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =

14,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1

-

15,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 0

|

15,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 1



.

15,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 15,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 2
30 16,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 0

| L

15 2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =

15,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 16,1111 LLLLLLLLLL =

1
=31 3
15,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 16,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1
15,2,1,1,1,1,1,1,1,1,1,1,1,1,1 = 1 =9 =30



L L L

16,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 1

17,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 17,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1

0 =4

21=0

2,1,1 =3
2,1,1,1 = 2
2,1,1,1,1 =5

16,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =
0 17,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1
_1 2,1,1,1,1,1 = 4

L—

2,1,1,1,1,1,1 = 7

2,1,1,1,1,1,1,1 = 6
2,1,1,1,1,1,1,1,1 = 9
2,1,1,1,1,1,1,1,1,1 = 8

16,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 17,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =
=3 1 2,1,1,1,1,1,1,1,1,1,1 = 11



|
r

2,1,1,1,1,1,1,1,1,1,1,1 = 10

|

2,1,1,1,1,1,1,1,1,1,1,1,1 = 13

|

2,1,1,1,1,1,1,1,1,1,1,1,1,1 = 12

|

2,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 15

|

2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 14

|

2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =
17

|
|

2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =

Pt Rt Rt Rk Ak hab Rab R At At 2at et Rk Rak hak Aab

16
2,2 =2

2,21 =0

__§

2,2,1,1 = 4

ERRgE

221,1,1=3

1

2,21,1,1,1 =6

‘:-

2,21,1,1,1,1 =5

EEnfinnnn

2,2,1,1,1,1,1,1 = 8

2,21,1,1,1,1,1,1 =7

]

2,2,1,1,1,1,1,1,1,1 = 10

|

2,21,1,1,1,1,1,1,1,1 = 9

|

2,2,1,1,1,1,1,1,1,1,1)1 = 12

Pt Rt Rt Ak Ak At Rt At bt

|

2,2,1,1,1,1,1,1,1,1,1,1,1 = 11

|

2,2,1,1,1,1,1,1,1,1,1,1,1,1 = 14

|

2,2,1,1,1,1,1,1,1,1,1,1,1,1,1 = 13

2,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 16

|

2,21,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =
15

|

2,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =

18
3,1,1=0

A

31,1,1 = 1

e

3,1,1,1,1 = 6

A

3,1,1,1,1,1 =7

e

3,1,1,1,1,1,1 = 4

AT

3,1,1,1,1,1,1,1 =5

L—

3,1,1,1,1,1,1,1,1 = 10

L-

3,1,1,1,1,1,1,1,1,1 = 11

L-

3,1,1,1,1,1,1,1,1,1,1 = 8

L—

3,1,1,1,1,1,1,1,1,1,1,1 = 9

L:—

3,1,1,1,1,1,1,1,1,1,1,1,1 = 14

L_

3,1,1,1,1,1,1,1,1,1,1,1,1,1 = 15

L_

3,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 12

L_

3,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 13

L_

3,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =
18

L_

3,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =
19




i

321=1

Hi

321,1=5

i

32,1,1,1 =7

Mo

32,1,1,1,1 =3

o

3,2,1,1,1,1,1 = 8

i

3,2,1,1,1,1,1,1 = 4

.:—

3,2,1,1,1,1,1,1,1 = 6

.:—

3,2,1,1,1,1,1,1,1,1 = 12

.:—

3,2,1,1,1,1,1,1,1,1,1 = 11

.—

3,2,1,1,1,1,1,1,1,1,1,1 = 10

.—

3,2,1,1,1,1,1,1,1,1,1,1,1 = 9

.—

3,2,1,1,1,1,1,1,1,1,1,1,1,1 = 16

.—

3,2,1,1,1,1,1,1,1,1,1,1,1,1,1 = 15

.—

3,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 14

.—

3,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =
13

.—

3,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =

L

41,11 =0

L.

411,11 =7

L.

4,1,1,1,1,1 = 6

L.

41,1,1,1,1,1 = 5

L

41,1,1,1,1,1,1 = 4

L

4,1,1,1,1,1,1,1,1 = 11

L

4,1,1,1,1,1,1,1,1,1 = 10

10

—

41,1,1,1,1,1,1,1,1,1 = 9

N

41,1,1,1,1,1,1,1,1,1,1 = 8

N

4,1,1,1,1,1,1,1,1,1,1,1,1 = 15

N

4,1,1,1,1,1,1,1,1,1,1,1,1,1 = 14

N

4,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 13

—

4,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 12

4,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1
19

4,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =
18

4211 =1

421,11 =0



T

421111 =2

-

421,1,1,1,1 =7

-

421,1,1,1,1,1 =6

-

42,1,1,1,1,1,1,1 =9

-

421,1,1,1,1,1,1,1 = 8

—

4,2,1,1,1,1,1,1,1,1,1 = 12

o e

421,1,1,1,1,1,1,1,1,1 = 13

T

4,2,1,1,1,1,1,1,1,1,1,1,1 = 10

—

42,1,1,1,1,1,1,1,1,1,1,1,1 = 11

N

4,2,1,1,1,1,1,1,1,1,1,1,1,1,1 = 16

-

42,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 17
51,1,1,1,1,1,1,1,1,1 = 14

(

421,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =

14 51,1,1,1,1,1,1,1,1,1,1 = 15

[

421,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =

L

51,1,1,1,1,1,1,1,1,1,1,1 = 8

]

51111 =0 51,1,1,1,1,1,1,1,1,1,1,1,1 = 9
51,1,1,1,1,1,1,1,1,1,1,1,1,1 = 10
51,1,1,1,1 = 1

]

L.

51,1,1,1,1,1 = 2

L.

51,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 11

|

51,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =

51,1,1,1,1,1,1 = 3 20
51,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =
51,1,1,1,1,1,1,1 = 12 o1
51,1,1,1,1,1,1,1,1 = 13 521,11 =1

11



-

52,1,1,1,1 = 8

b

52,1,1,1,1,1 = 9

-

52,1,1,1,1,1,1 = 2

ko

52,1,1,1,1,1,1,1 =5

-

52,1,1,1,1,1,1,1,1 = 6

—

52,1,1,1,1,1,1,1,1,1 = 13

-

52,1,1,1,1,1,1,1,1,1,1 = 14

I

52,1,1,1,1,1,1,1,1,1,1,1 = 15

I

52,1,1,1,1,1,1,1,1,1,1,1,1 = 10

|
a

52,1,1,1,1,1,1,1,1,1,1,1,1,1 = 11
6,1,1,1,1,1,1,1,1,1 = 12

|
a

52,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 12
6,1,1,1,1,1,1,1,1,1,1 = 15

52,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =

N

-

6,1,1,1,1,1,1,1,1,1,1,1 = 14

52,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =

16 6,1,1,1,1,1,1,1,1,1,1,1,1 = 9

-

6,1,1,1,1,1 =0 6,1,1,1,1,1,1,1,1,1,1,1,1,1 = 8

:

6,1,1,1,1,1,1 = 3 6,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 11

!_
:

L1111l 6,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 10

|

-

6,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =
6,1,1,1,1,1,1,1,1 = 13 21

12



6,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 6,2,1,1,1,1,1,1,1,1,1,1,1 = 13

20 7101,1,1,1,1 =1

L. L.

6,2,1,1,1,1 = 1 6,2,1,1,1,1,1,1,1,1,1,1,1,1 = 12

I 71,1,1,1,1,1,1,1 = 14
oL =0 LI
6,2,1,1,1,1,1,1,1,1,1,1,1,1,1 = 10

I 71,1,1,1,1,1,1,1,1 = 15
6,2,1,1,1,1,1,1 = 9
I 6,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 11

6,2,1,1,1,1,1,1,1 = 4
I 6,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =

0

.

71,1,1,1,1,1,1,1,1,1 = 12

18
71,1,1,1,1,1,1,1,1,1,1 = 13

6,2,1,1,1,1,1,1,1,1 = I
L 6,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =

19

7,1,1,1,1,1,1,1,1,1,1,1,1 = 10
6,2,1,1,1,1,1,1,1,1,1 =

L__ L

6,2,1,1,1,1,1,1,1,1,1,1 = 15 7,1,1,1,1,1,1 = 0 7,1,1,1,1,1,1,1,1,1,1,1,1,1 = 11

-

13



[

L L

71,1,1,1,1,1,1,1,1,1,1,1,1,1 = 8 7,2,1,1,1,1,1,1,1,1 = 4 7,21,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =
11

ALLLLLLLLLLLLLLL =9 72111111111 = 15 L_
7,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =
I 13
71,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = I

i

]

99 7,2,1,1,1,1,1,1,1,1,1,1 = 16

I 81,1,1,1,1,1,1 = 0
7L11,1,1,1,1,1,1,1,1,1,1,1,1,1 = 72 1,1,1,1,1,1,1,1,1,1,1 = 14
23
l 81,1,1,1,1,1,1,1 = 15
721111111111 = 17
7211111 =1
L- 8,1,1,1,1,1,1,1,1,1 = 14

72111111 =3 7,2,1,1,1,1,1,1,1,1,1,1,1,1,1 = 12

N

7,2,1,1,1,1,1,1,1 = 2 7,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 10 8,1,1,1,1,1,1,1,1,1,1 = 13

i

rr

14



B

L

-

81,1,1,1,1,1,1,1,1,1,1 = 12 81,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 821,1,1,1,1,1,1,1,1,1,1 = 18
22
81,1,1,1,1,1,1,1,1,1,1,1 = 11 EEREEN 82,1,1,1,1,1,1,1,1,1,1,1,1 = 15

8,2,1,1,1,1,1,1 =1

L 8,2,1,1,1,1,1,1,1,1,1,1,1,1,1 = 19

8,2,1,1,1,1,1,1,1 = 0

L:] 821,1,1,1,1,1,1,1,1,1,1,1,1,1 = 13

8,2,1,1,1,1,1,1,1,1 = 5

L] 8,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =

8,2,1,1,1,1,1,1,1,1,1 = 16

L.

8,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 8,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =
23 8,2,1,1,1,1,1,1,1,1,1,1 = 17 11

B
.

8,1,1,1,1,1,1,1,1,1,1,1,1,1 = 10

B
-

8,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 9

:

B

8,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 8

B
-
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| L.

9,1,1,1,1,1,1,1,1 = 0 9,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 6 9,2,1,1,1,1,1,1,1,1,1 = 17

L L

9,1,1,1,1,1,1,1,1,1 = 1 9,2,1,1,1,1,1,1,1,1,1,1 = 18

L. L

Rl

9,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 7

-

9,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =

9,1,1,1,1,1,1,1,1,1,1 = 2 2 9,2,1,1,1,1,1,1,1,1,1,1,1 = 16

9,1,1,1,1,1,1,1,1,1,1,1 = 3 2751,1,1,1,171,1»1,1,1,1,171,171,1,1 = 9,2,1,1,1,1,1,1,1,1,1,1,1,1 = 19
91,1,1,1,1,1,1,1,1,1,1,1 = 4 9211111111 9,2,1,1,1,1,1,1,1,1,1,1,1,1,1 = 20
91,1,1,1,1,1,1,1,1,1,1,1,1 = 5 9,2,1,1,1,1,1,1,1,1 = 3 9,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1 = 21

16



9,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =
12

9,2,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1 =
10
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